How many factors does 28446 have?��(A)  36	(B)  48	(C)  24	(D)  8	(E)  NOTA

Let A be the number of zeros in which B! ends when written in base 10.  As B increases, what is the limit of the ratio of B to A?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA

Evaluate:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

How many prime numbers are factors of 65! ?��(A)  17	(B)  18	(C)  19	(D)  20	(E)  NOTA

Which of the following is the 32nd number which is divisible by 2, 5, 6, 10, and 14?��(A)  4860	(B)  5430	(C)  5970	(D)  6720		(E)  NOTA

For each n in the set of natural numbers from 1 to 20, the remainder when t is divided by n is (n-1).  What is the smallest possible value for t?��(A)  58,217,379	(B)  74,387,589	(C)  113,472,209	(D)  232,792,559	(E)  NOTA

If a, b, c is an increasing arithmetic sequence, each of whose terms is a triangular number, what is the third smallest possible value of c?��(A)  45	(B)  55	(C)  66	(D)  78	(E)  NOTA

� EMBED Equation.2  ���  What is the remainder when A is divided by 48?��(A)  8	(B)  10	(C)  12	(D)  14	(E)  NOTA

The number 9A407B is divisible by 12.  How many possible values are there for A-B?��(A)  7	(B)  6	(C)  5	(D)  4	(E)  NOTA


Determine 
�
 
EMBED 
Equation.2 
 
�
�
�
, where 
F is the 
recursively defined series:�	
�
 
EMBED 
Equation.2 
 
�
�
�
�
�(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

For what value of n will  � EMBED Equation.2  ���?��(A)  525	(B)  550	(C)  575	(D)  650	(E)  NOTA

What is the product of � EMBED Equation.2  ���and � EMBED Equation.2  ���, expressed in base 11?��(A)  274423	(B)  287535	(C)  293507	(D)  300428	(E)  NOTA

What is the product of the positive divisors of 19683?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA

Which of the following numbers is both triangular and perfect?��(A)  465	(B)  487	(C)  496	(D)  528	(E)  NOTA

How many Pythagorean triangles with perimeters less than 300 have side lengths which are arithmetic sequences?��(A)  22	(B)  25	(C)  29	(D)  32	(E)  NOTA

� EMBED Equation.2  ���.  Which of the following could d equal in mod 80?�	I.  3�	II.  18�	III.  37�	IV.  51�	V.  79��(A)  I & IV	(B)  I, IV & V	(C)  I, II & III	(D)  II, III & IV	(E)  NOTA

A number m, when written in base c>11, is equal to AB, where A is c-4 and B is 9.  What is m, expressed in base (c-2)?��(A)  87	(B)  92	(C)  105	(D)  113	(E)  NOTA

If � EMBED Equation.2  ���is a solution of the equation � EMBED Equation.2  ���, determine the sum of the possible values of a.��(A)  18	(B)  54	(C)  108	(D)  118	(E)  NOTA

What is the value of H in the following cryptarithm?�	 � EMBED Equation.2  �����(A)  3	(B)  4	(C)  5	(D)  6	(E)  NOTA

In how many zeros does 216! end when expressed in base 28?��(A)  33	(B)  34	(C)  35	(D)  36	(E)  NOTA

Find the sum of the three smallest natural numbers with exactly 12 factors.��(A)  222	(B)  234	(C)  246	(D)  254	(E)  NOTA

Express � EMBED Equation.2  ��� in base 2n.��(A)  1248	(B)  1334	(C)  1428	(D)  1532	(E)  NOTA

What is the value of 
b
 if � EMBED Equation.2  
�
�
�
, where a is 
a
 digit in base 
b
?��(A)  
1
4	(B)  
1
7	(C)  2
2	(D)  3
4	(E)  NOTA

In assembling a 289 piece jigsaw puzzle, a “move” is considered to be the joining together of two “units”, where a “unit” is 
one or more previously
 joined 
pieces.  What is the number of moves required to assemble the puzzle, when the assembly is done optimally?��(A)  
17
	(B)  
256
	(C)  
272
	(D)  288	(E)  NOTA

Find the sum of all 
natural numbers
 
n
 for which  � EMBED Equation.2  �����(A)  7	(B)  
1
8	(C)  
22
	(D)  
31
	(E)  NOTA

Given that all numbers in this problem and the answers are expressed in the same base, if one fourth of 20 is 6, what is one fifth of 10?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

Which of the following is a transcendental number?��(A)  2	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  
�
�
�	(E)  NOTA



Given n simultaneous linear equations in n unknowns with integer coefficients, to what set of numbers must the unknowns belong, given there is a unique solution to the system?��(A)  Real	(B)  Imaginary	(C)  Rational	(D)  Integers	(E)  NOTA

If � EMBED Equation.2  ���, what is the sum of the coefficients of A’s terms?��(A) � EMBED Equation.2  ���	(B)  0	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

Which of the following functions are both continuous and differentiable for all real x?�	I.  � EMBED Equation.2  ����	II.  � EMBED Equation.2  ����	III.  � EMBED Equation.2  �����(A)  I	(B)  II	(C)  II & III	(D)  I, II & III	(E)  NOTA
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